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Prototype Ag2O2Pb

AFLOW prototype label A2B2C mC20 15 ac f e-001

ICSD 24037

Pearson symbol mC20

Space group number 15

Space group symbol C2/c

AFLOW prototype command aflow --proto=A2B2C_mC20_15_ac_f_e-001

--params=a, b/a, c/a, β, y3, x4, y4, z4

• (Byström, 1950) gives the structure in the I2/c setting of space group #15. We have used FINDSYM to change this to
the standard C2/c setting. This conversion involved a rotation of the axis, and placed the origin on what had been an Ag
(4d) site, transforming it to Ag (4a).

Base-centered Monoclinic primitive vectors

1

http://dx.doi.org/10.1016/j.commatsci.2021.110450
https://aflow.org/p/8GWY
https://aflow.org/p/A2B2C_mC20_15_ac_f_e-001


a1 = 1
2a x̂− 1

2b ŷ

a2 = 1
2a x̂ + 1

2b ŷ

a3 = c cosβ x̂ + c sinβ ẑ

Basis vectors

Lattice
coordinates

Cartesian
coordinates

Wyckoff
position

Atom
type

B1 = 0 = 0 (4a) Ag I

B2 = 1
2 a3 = 1

2c cosβ x̂ + 1
2c sinβ ẑ (4a) Ag I

B3 = 1
2 a2 = 1

4a x̂ + 1
4b ŷ (4c) Ag II

B4 = 1
2 a1 + 1

2 a3 =
(
a
4 + c cos β

2

)
x̂− 1

4b ŷ + 1
2c sinβ ẑ (4c) Ag II

B5 = −y3 a1 + y3 a2 + 1
4 a3 = 1

4c cosβ x̂ + by3 ŷ + 1
4c sinβ ẑ (4e) Pb I

B6 = y3 a1 − y3 a2 + 3
4 a3 = 3

4c cosβ x̂− by3 ŷ + 3
4c sinβ ẑ (4e) Pb I

B7 = (x4 − y4) a1 + (x4 + y4) a2 +
z4 a3

= (ax4 + cz4 cosβ) x̂ + by4 ŷ + cz4 sinβ ẑ (8f) O I

B8 = − (x4 + y4) a1 − (x4 − y4) a2 −(
z4 − 1

2

)
a3

= −
(
ax4 + c

(
z4 − 1

2

)
cosβ

)
x̂ + by4 ŷ −

c
(
z4 − 1

2

)
sinβ ẑ

(8f) O I

B9 = − (x4 − y4) a1 − (x4 + y4) a2 −
z4 a3

= − (ax4 + cz4 cosβ) x̂− by4 ŷ − cz4 sinβ ẑ (8f) O I

B10 = (x4 + y4) a1 + (x4 − y4) a2 +(
z4 + 1

2

)
a3

=
(
ax4 + c

(
z4 + 1

2

)
cosβ

)
x̂− by4 ŷ +

c
(
z4 + 1

2

)
sinβ ẑ

(8f) O I
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